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 2 Expressing Relationships

What might be the values of a and b?

(Give a range of possible answers.)

I know that + = 120.3b
4

2a
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 2 What Can It Be?

The underlined box means that something is missing.

What might be the letters or numbers missing in the following?

3(a +      ) −     =      a +  
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 2 Temperature Conversion

There is a rule for converting degrees Fahrenheit (used in the United States)
to degrees Celsius (used almost everywhere else):

What might be the values for F and for C?

(Give a range of possible answers.)

F  =      + 329
5
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